Quiz 8
BIOL 100
1. When a population gets too small and surpasses a “minimal viable population”, what is 
  
biggest concern for the recovery of the species?

a. Ecosystem diversity

b. Species diversity

c. Biome diversity

d. Genetic diversity

2.  As we develop more area for human use we fragment habitats into smaller pieces.  

 What category of species will decline first as we fragment the landscape?

a.  edge species

b.  small species

c.  large species 

d.  generalist species
3.   When an individual migrates from one population to another, they bring their alleles with them.  This is an example of…

A) Natural selection 


B) Genetic drift 


C) Gene flow

D) Artificial selection
4.  What is the primary cause of the modern loss of biodiversity?
a. Habitat loss

b. Pollution

c. Overharvesting

d. Invasive species

e. Climate change

5.  Which level is NOT included in the concept of biodiversity?

a. Species diversity

b. Genetic diversity

c. Ecosystem diversity

d. All of the above are included in this concept

6.   What happens when a species experiences “inbreeding depression”?

a. The species becomes too large for the resource base

b. Genetically similar parents mate and produce inferior offspring

c. Genetically similar parents mate and produce superior offspring

d. The number and variety of species increases

7.  Which micro-evolutionary process below has the greatest effect on small populations? 


A) Mutation 


B) Non-random mating 


C) Genetic drift 


D) Natural selection 


E) Gene flow 

8.  A trend toward the decrease in the size of plants on the slopes of mountains as 
elevation increases is an example of 


A) a cline 


B) a bottleneck 


C) relative fitness 


D) genetic drift 
9.   According to the concept of “latitudinal gradient,” which of the following happens?

a. Species richness increases toward the equator

b. Species richness decreases toward the equator

c. Species richness decreases over time

d. Countries like Canada have many more species than expected

10.  A large population of laboratory animals has been allowed to breed randomly for a 
number of generations. After several generations, 25% of the animals display a 
recessive trait (aa), the same percentage as at the beginning of the breeding 
program. The rest of the animals show the dominant phenotype, with 
heterozygotes indistinguishable from the homozygous dominants.


What is the estimated frequency of allele A in the gene pool? 


A) 0.05 


B) 0.25 


C) 0.50 


D) 0.75 


E) 1.00 

11.  Which of the following is the major cause of extinction?

a. Invasive species

b. Pollution

c. Habitat loss

d. Overharvesting

12.  In peas, a gene controls flower color such that R = purple and r = white. In an 
isolated pea patch, there are 36 purple-flowering plants and 64 white-flowering 
plants. Assuming Hardy-Weinberg equilibrium, what is the value of q for this 
population? 


A) 0.60 


B) 0.64 


C) 0.75 


D) 0.80
13.  In mouse coat color, several genes are involved.  This results in a bell curve 
phenotypic distribution.  In this habitat, a drought is experienced and the habitat 
in general becomes lighter in color.  This causes mice with lighter fur to be more 
successful at hiding (and therefore surviving) and shift the bell curve toward a
the lighter end of the distribution.  This shift in the curve is an example of which 
below?

A) Directional selection
B) Disruptive selection

C) Stabilizing selection

D) Sexual selection

14.  After a disease has passed through a population of cheetahs, the allele frequencies of 
the next generation are affected by the allele frequencies of the original disease 
survivors.  This is an example of?

A) Gene flow

B) Founder effect

C) Migration

D) Bottle-neck effect

15.  Which below is not a condition of Hardy-Weinberg Equilibrium?
A) No natural selection

B) No mutation

C) No random mating

D) Large population
